A hodge-podge of equations:
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Possibly Useful Constants and Conversions:

Solar B-band Magnitudes: mp = —26.14, Mp = +5.42
Solar V-band Magnitudes: my = —26.8, My = +4.76
Solar I-band Magnitudes: m; = —27.5, M; = +4.08

Gravitational constant: if time is measured in years, distances in AU, and masses
in solar masses, G = 39.5 AU® M(gl yr—2

Gravitational constant: if time is measured in Myr, distances in pc, masses in
solar masses, and velocities in km/s, G = 4.43 x 1073 pc? M51 Myr~2. Or,
equivalently, G = 4.43 x 1073 pc (km/s)’ Mg

Stefan-Boltzmann constant o = 7.18 x 10717 if luminosities are measured in solar
luminosities, temperature is measured in Kelvin, and sizes are measured in solar
radii.

Hubble constant: Hy ~ 70 km/s/Mpc

1 parsec (pc) = 206,265 AU

1 arcsecond (") = 1/3600 degrees = 4.85 x 10~ radians

1 Angstrom (A) = 107% cm

1 year = 3.15 x 107 s

1 km/s =~ 1 pc/Myr



